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Q.No: 1 In which season Kharif and Rabi Crops are grown respectively?
2426876

TE R T B B HH: b T F S o 82

Winter, rainy

A
wdf, svra
Summer, rainy
B
T, seEE
Rainy, winter
C
T, wf
Spring, summer
D

Taq, Tt
Correct Ans : C

Subject : General Knowledge

Q.No: 2 When the prize was first created, only novels written by Commonwealth, Irish and South African (and later Zimbabwean) citizens were
2426990 eligible to receive the prize. This statement refers to which of the following awards?

e REPR UGl IR ST T AT, Had APHS, SRR 3R SR0r sipiet (3R a1g & Rnared) FRet gR fifad Iu= €1 IR U R & U
Tg By Fefiied § @ fre R et 82

Grammy Awards

A
prilcice|
Booker Prize
B
TP RIPR
Pulitzer Prize
C

IR R

D Right Livelihood Award
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T AIFANGS IHaTS

Correct Ans : B

Subject : General Knowledge

Q.No: 3 Unnat Jyoti by Affordable LEDs for All (UJALA) was launched in which year?
2427379

T & T BISae Tase! (Iome) gRT Ieid S fbg Iy gR= 1 T o

2017
A

2017

2015
B

2015

2012
C

2012

2014
D

2014

Correct Ans : B

Subject : General Knowledge

Q.No: 4  Aajeevika - National Rural Livelihood Mission (NRLM) was renamed as Deendayal Antyodaya Yojana in which year?
2427418

freifaeT - TPT T Sreifaest fARM (NRLM) &1 M Seae 60 av e sidieg e o= faar mar?

2017
A

2017

2018
B

2018

2020
C

2020

2015
D

2015

Correct Ans : D

Subject : General Knowledge

Q.No: 5  Which conference established the International Monetary Fund (IMF) to deal with external surpluses and deficits of its member nations?
2428872
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forg THaa 3 ot Tew I & a6 SRy SR U e F forw SiRifi g1 Py (SMETHTw) @ RiTeET F?

United Nations Monetary and Financial Conference

A
YT Wy W ok it s es
G-77
B
S-77
Bretton Woods
C
ELRE Ul
Daniel Andrews
D

Sfaa tgaw
Correct Ans : C

Subject : General Knowledge

Q.No: 6  The Great Depression was the worst economic downturn in US history. It began in which year?
2428873

e SRe! 3faeTy BT Jed WRre e #d} | wE fbw o = genr?

1932
A

1932

1929
B

1929

1940
C

1940

1931
D

1931

Correct Ans : B

Subject : General Knowledge

Q.No: 7 What is the correct full form of GVA?
2428885

SiidiT &1 9 $a s a1 82

Gross valuation addition

I IR TR

Gross valuable added
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9 IgLTd TS

Gross value added
C

e 3eq T2

Gross value able
D

I deg Vg
Correct Ans : C

Subject : General Knowledge

Q.No: 8  Sinhala is the official language of which among the following countries?
2428932

figd(Sinhala) Fafifad & ¥ g Sz B ISHW B2

Nepal
A
ELIG]
Myanmar
B
AR
Bhutan
C
e
Sri Lanka
D
sfreiet

Correct Ans : D

Subject : General Knowledge

Q.No: 9  Which is the largest tomato producing country in the world?
2429059

%y &1 god ST THICY IAIGH ST HH AT 8 ?

Russia
A

4

USA
B

..

China
C

GG

Canada
D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

Correct Ans : C

Subject : General Knowledge

Q.No: 10 The Sunda Strait connects which sea to the Indian ocean?
2429060

o1 vasHqY by 9% &I fig AENFR  siedr 8?2

Java Sea
A

KICIRGINES

Red Sea
B

T 4R

Arabian Sea
C

SRY IR

Bali Sea
D

qreft 9FR

Correct Ans : A

Subject : General Knowledge

Q.No: 11  When was the Environment Protection Act passed?

2432150

TieR WRevT AR Be wid garr?

1945
A

1945

1956
B

1956

1937
c

1937

1986
D

1986

Correct Ans : D

Subject : General Knowledge

Q.No: 12 For which of the following work, Bhikaji Rustom Cama is known?
2433579

fFofafed & ¥ f5g o & R il S8 ST B ST Si1ar 8?2

A for unfurling the Indian national flag
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YR PG 9 BeeH & g

for founding Indian Home rule Society
B

33U 3 o sl I R & forg

for demanding the Bengal division
C

e fauTeE Ft | & g

for supporting the British government
D

fafew wReR &1 90dq w31 & forw

Correct Ans : A

Subject : General Knowledge

Q.No: 13 Hunter Commission of 1919 was constituted to examine which of the following incidents?
2433589

¥ 1919 H ge TN &1 734 Fufifad & ¥ 5w ge &1 9 &=a & fore far mar ure

Vernacular Press Act

A
TATRIER N Tae
Jallianwala Bagh Massacre
B
SIRraiaTer 9Nt TR
Kamagatamaru revolt
C
AR fa5ie
Champaran Satyagraha
D

AYROT AATTE
Correct Ans : B

Subject : General Knowledge

Q.No: 14 Rohit Sharma replaced Virat Kohli as India's new captain of which format?
2437129

faRTe Pigell Bt STE AR T URA F 5T URST F ¢ HEH 7

T20
A

& 20

One Day International
B

TS SeREd

C Test Match
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e AT

T20, One Day International and Test Match

20, TS SEARA 3R & A

Correct Ans : D

Subject : General Knowledge

Q.No: 15 Tamang Selo folk song is associated with which of the following states?
2440756

THT I A a Faffed & @ ey Iow @ g 32
Chhattisgarh

A
oieTg
Gujarat
B
ToRTd
Karnataka
C
FHle®
West Bengal
D
LIECERIG]

Correct Ans : D

Subject : General Knowledge

Q.No: 16 Where can one find the magnificent palace of Bir Singh Dev?

2441198

R Rig 3@ &7 YT T5d Fgl 82

Datia
A

gfean

Indore
B

R

Orccha
C

SRsT

Bhopal
D

urer

Correct Ans : A

Subject : General Knowledge
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Q.No: 17 Where is Dhuandhar waterfall located ?

2441344
Y3MYR TAUTT FeT U 82
Jabalpur
A
SR
Panchmarhi
B
LELG
Pench
C
g
Khandwa
D
gsar

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Ustad Allauddin Khan Saheb was from ____ city of Madhya Pradesh.
2441402

I AL G T6d TS &F _ WeR 9 |

Indore
A

%R

Bhopal
B

ure

Maihar
C

AR

Gwalior
D

IR

Correct Ans : C

Subject : General Knowledge

Q.No: 19 Who is the author of the “The Bloomsbury Anthology of Great Indian Poems” ?
2776138

g SIS TR it Ae St & e BIF 2

A Apoorva Kumar Singh
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3rqd AR e
Amit Shah
B
ffha =g
Abhay Kumar
C
ST PUR
Arun shourie
D

30T TR

Correct Ans : C

Subject : General Knowledge

Q.No: 20 Where is the headquarter of the world health organization (WHO) ?
2776139

3% @reg 989 (WHO) &1 §@iTer &gl 82

Japan
A
S
Venezuela
B
Switzerland
C
United states
D

Tga ey ST
Correct Ans : C

Subject : General Knowledge

Q.No: 21 The tides and waves of oceans could be harnessed to generate-
2422844

HETRI & SOR 3R T3 ) ST B S 1T IuaIT fbam s Iebvall ©-

Energy and electricity

A
St X faereft
Gulf

B
TSt

C Minerals

GET IT ON

Google Play
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Heat

it

Correct Ans : A

Subject : General Science

Q.No: 22 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine
2429275 these two statements carefully and select the correct answer to the question from the given options.

Assertion(A): Solid waste is a major issue in today's world.

Reason(R): It pollutes both the soil and the water.

= Fufiiad vy § & ou= € B8 3 Ue &1 "3fiimy iR GER &1 "SR & =0 B d9d o T
U] 37 BT P B WAUHIGID S Bt & 3R U U fJepedl T T Uy &1 Ge) S A1 81

BT (A) : O BRI S B g & Teb UE T B
HRO (R) : T8 g} 3R urft Y ) ugfia e 31

Both A and R is true

A
T 3R 3R 31 9 §
Both A and R is false
B
T 3R IR Y s
A is true but R is false.
C
T U ¢ AP IR 3R B
A is false but R is true.
D

T 3 § AP R a4 71
Correct Ans : A

Subject : General Science

Q.No: 23 Which of the following do not have a differentiated plant body?

2429831
fFrafefea & @ fead Rnfd ueu =¥k 78 82
thallophytes
A
Iefiprgea
bryophytes
B

ATApTSCH


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addacy47 Eoogle Play

gymnosperm
C
forreas
pteridophytes
D

EiSgEr]

Correct Ans : A

Subject : General Science

Q.No: 24 Suresh encounters an organism having bilateral symmetry, closed circulation and metameric segmentation. Help Suresh figure out, that
2429904 the animal is

Q1 fgueia ToReTdr, o uRERe SR AemRe faure aret Sfia &1 9raaT SRdl 81 R &1 T8 Udl aT § TETIa & 98 SaR §

A Mollusca
A

TS HiAwsT

An Annelida
B

TH QTS

An Echinodermata
C

T $Rrtsder

Nematode
D

AP

Correct Ans : B

Subject : General Science

Q.No: 25 The percentage of in the atmosphere is said to have doubled since the industrial revolution when human beings started burning
2431690 o) fuels on a very large scale.

FE AL B AU T %1 yfawid i Hifd & a1 & SR 81 T § e MG 7 SiaT=d S 6 9gd 98 9 IR Sa R R Al
nitrogen
A
BLCEE]
carbon dioxide
B
P SRATHTES
atmospheric ozone
c

aRgHS i

D oxygen
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STeRiTerT
Correct Ans : B

Subject : General Science

Q.No: 26 Marine fish capture is done by fishing nets guided by :

2431721
T AT U BT B R FERM T Ueed & A gRI fbar Wi )
echo sounders and satellites
A
39! ASsH ok deemsH
virtual imaging
B
it gAfSHT
drones
C
il
submarines
D

Correct Ans : A

Subject : General Science

Q.No: 27 Amoebiasis is a disease in which the pathogen affects the -
2434292

SfieTaRig T T 3 © REd Ay gHiad R € -

Heart
A
Frekal
Lungs
B
PP B
Intestine
C
3fiq 3
Brain
D
AT $i

Correct Ans : C

Subject : General Science

Q.No: 28 Water cleared off sludge in Waste Water Treatment Plant (WWTP) is known as -
2434346
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SURIY Se IR GIT (WWTP) H 3Tte J gyss fobd T4 Ut ) HeT ol © -

Pure water

A
TS U
Clarified water
B
frfdftpa ot
Reclaimed water
C
T: fAffa v
RO water
D
SRS Ui

Correct Ans : C

Subject : General Science

Q.No: 29 Above__ the noise becomes physically painful to human ears.
2434577
e ¥ g I SR &1 AR IRRE FY I &A% g1 91l 3
10dB
A
10dB
30dB
B
30dB
50 dB
C
50 dB
80 dB
D
80 dB

Correct Ans : D

Subject : General Science

Q.No: 30 What is the molecular formula for chalk?

2437202
AT BT VD T 1 82
Ca(OH):
A
Ca(OH);

B CaCO3
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CaCOs

Ca(504)2
C

Ca(504)2

CaHCO;
D

CaHCO3

Correct Ans : B

Subject : General Science

Q.No: 31 In which of the following regions is the ozone layer found?

2439841
e R Fafafed # 9 feg dea § urh ordt 32
Thermosphere
A
I AgHS
Stratosphere
B
JHAY He el
Exosphere
C
afeHsa
Troposphere
D
&y e

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following crops is not typically associated with the Zaid season?

2783651
e # 3 o 9 wUd R W e O § el 6 82
Watermelon

A
o
Cucumber

B
@

Sunflower

c

ot
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Bitter gourd

BT

Correct Ans : C

Subject : General Science

Q.No: 33 Which of the following is an example of a plant that reproduces asexually through rhizomes?
2783797

fFafifed & ¥ ©F-91 1Y &1 IS0 § S Udhal &b A1y § 3difiie T F Yo &l 8?2

Strawberry
A
<R
Daisy
B
TasER
Fern
C
B
Apple tree
D
AT BT g8

Correct Ans : C

Subject : General Science

Q.No: 34 Which of the following statements is NOT true about Linnaeus's system of classification?
2784632

fafrerg @t arffevor yumelt & R & Fafofed & ¥ 91 91 $uF 94 T 82

Linnaeus's system is based on a hierarchical structure.

A
fafaRT &Y yoel Te eIt IRTHT uR STeTRd B
Linnaeus's system uses binomial homenclature to name species.
B
fafrera 3t yomeht yenfaat & w9 F R v THERe $1 IuE w7
Linnaeus grouped together organisms that shared obvious physical traits, such as number of legs or shape of leaves
C
fafera 3 ¥ <iat 91 v a1y IufRa far R Ty mdifve aaon, 99 R ) d@n ar o 1 eR, TuE A1
Linnaeus's system of classification is based on the theory of evolution and considers the evolutionary relationships among
organisms.
D

ferrera @1 afferzor vumeht fawraare & Rigia W snufiia g iR Siiat & Si¥ faerard! Gt W faar aedt 21

Correct Ans : D

Subject : General Science
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Q.No: 35 Which of the following parts does not participate in asexual reproduction?
2784712

Frofifad § ¥ SH-91 4T e usHe & | T8 dar 82

Stolon
A

RSl

Rhizome
B

U

Flower
C

R

Tuber
D

E3d

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?
2422633
8 16 24 35 40 48

§Rgel § TTerd HH BT Udl AML?

8 16 24 35 40 48

8
A

8

24
B

24

35
C

35

48
D

48

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Find the odd word out.
2424534
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ST e BT 9T DITorg|
Pupil

Iris

Mg

Cornea

Bt

Medulla

Agan

Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the odd word out.

2424540

ST s BT TTT IO |

Rickets
A

fReew

Anaemia
B

St

Typhoid
C

CIRPIRS

Scurvy
D

&t

Correct Ans : C

Subject : General Reasoning

Q.No: 39 In the diagram, Triangle represents Dogs, Circle represents Cats and Rectangle represents Parrots.
2426585

Which number shows the people who has either Dogs or Cats but not Parrots?

GET IT ON

Google Play
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@ ¥, By ot &1 ufaffica wrar B, 39 et &1 ufaffia aar § ok smoa dia &1 ufafafia s g

1

B o e 37 A Bl gifelt ¥ e u o o faweht € afe a A €2

27
A

27

8
B

8

19
C

19

15
D

15

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Sun, Moon and Galaxy?
2426733

fofafad % ¥ B9 91 o gd, I5m SR MHRATT & §id IaW 3y JdY HI STaT 82

¥ @08 o

O
O
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Correct Ans : B

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427791 \yhich the paper will appear when unfolded.

I |
] | | |

1

|

._i'__

L =]

19 feu T Uy Sl B UH HIS & ghe B HIST SR HIel M1 g, & T I Bl F fAmedl B Y 3 IR MBI BT TG B, ST fF WIS IR F1R M
FHITS B Wi W AHA gt

._i'__ :

[s] [+ = ] =] o
(=] =] 2] =]
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(= L=

(=] O

Correct Ans : C

Subject : General Reasoning

Q.No: 42 A piece of paper is folded and cut as shown below in the questions figure. From the given answer figures, indicate how it will appear when
2427801 opened?

Question Figure

= s

ANsSwer rigure

>4 &) [dH] 5%

(a) (o) ()] (d]

TH PG & ¢HS B ST T 3R 39 YSR BT T S U= M1pfa § TR 31 € TS SaR Mpfad # F 71 3 6 I8 Gar & a18 »ar Ui grm?

Question Figure
T :

= T ¢

>4 G 8B (5%

(a) (b} el (d]

(a)
A (a)

(b)
B (b)

(©)
¢ (©)

(d)
D (d)

Correct Ans : C

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427802 \yhich the paper will appear when unfolded.

I U T Y BT T Uk P b THS B HIST 3R Prel T 7, & TE IR NPl & faped! F I 3T IR MBI &7 907 IR, S i 1S 3R &1 g
PITS B Wi W AP T
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Correct Ans : A

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427816 \yhich the paper will appear when unfolded.

_————

%

- —_ - = [ -— oy

I

F U T Uy BT F U FRS F S B HIST 3R FreT T 7, & TE IR NP F el H I 39 SW B BT 99 IR, T fF IS SR B MY
BT B WA W AP T

vor aor
[} (|
I [
[} (|
I [
v

]

()
1

1
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Ly

b3

Lo =
o o

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the one like
2427831 \hich the paper will appear when unfolded.

9 U U Uy 3pfa B TP H & ThS BT WIST 3R BT T 7, < T8 IR NP & e § ¥ 3T IR NP HT I99 HY, o1 i A1 3R P 7Y
P P! WA TR B Tt

;-¢---LJ__£__ rm_____l

>
(a0 O
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g
§
£
i
£
i
8
§
g
§
:
g

s
2

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?

2433182

Vi |

Y

il
L\ ?
FHH-T W BT UY M B U BT G Hf?

e\
L\?
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N ]

/4

=
=

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.

=
&
=
&

“
=
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=
B
A
B
»
N

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Complete the question figure by choosing the best alternative from the answer figure.

.
o

IW NPT T Y I 3N Ahed TR Uy Mpfa & [ S

e
o
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S
S
-
3¢
C@
X
Q)
)

Correct Ans : A

Subject : General Reasoning

Q.No: 49 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434909
121:9::256:7?

I e &1 907 B off T T & I TR el § O gt TR, vgdl T I et B
121:9::256:7
18
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13
10

10
Correct Ans : B

Subject : General Reasoning

Q.No: 50 Identify the classes that best represents the relationship among the given diagram.
2435564

37 AT Bt gEE B o foU TN S & oY TeY BT Ja¥ 33T Ul #Ra B

Red, Blue, Magenta

A
Rhombus, Quadrilateral, Polygons
B
oEgUe, g, TgY
Reptiles, Lizard, Lion
C
a3, s, 2R
Cricketer, Footballer, Indian
D

frheR, peater, YR

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Identify the diagram that best represents the relationship among the given classes.
2435676
Water, Hydrogen, Oxygen

I ARG P Uga B o T 7T AT & S JeY 67 o 33T Ui B 71
T, gIESior, Sifadte

A f"Fﬁ}'“““\
i Y
.'l ,K— -I

¢ N/
I\_:f ._,j.——


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

e

['J IK-\;
/

e S

Y,
h,

)

P

['J IK-BJ
J /

R

Y,
h,

TEL
e,

B E
/,J

>

\ O

N B

Correct Ans : C

Subject : General Reasoning

Q.No: 52 Study the following information carefully and answer the question that follow.

2720834 If *>'" denotes '+, ‘<’ denotes '-’, *+’ denotes '+’, ‘@’ denotes ‘'x’, *-’ denotes ‘=’, *x’ denotes ‘>’ and ‘=’ denotes ‘<’, Choose the correct
statement in each of the following questions.
& T TR B S T B 3R I8 T U BT 3T -
g > @ e+ < @ el T o @ BT arf x, and =, s T o > el = T e < BT Y, R AT TR Ul F @ W) e -
6+3>8=4+2<1

A

6+3>8=4+2<1
4>6+2x32+4<1
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4>6+2x32+4<1

8<4+2=6>3

8<4+2=6>3

14+7>3=6+3>2

14+7>3=6+3>2
Correct Ans : C

Subject : General Reasoning

Q.No: 53 Study the following information carefully to answer the question given below-

2727041 In an Exhibition seven cars of different companies - C, A, F, M, Me, B and Fa are standing facing to north in the following order - C is next
to right of Fa. Fa is fourth to the right of F. M car is between A and B. F, which is third to the left of A, is at one of the end.
Three of the following four are alike in a certain way based on their position, which of the following does not belongs to that group?
fufafd THeRt @1 wrde sieeH #R AR Gl T Uy 31 IW S|
T vERH # faft Sufel @1 91 SR - C, A, F, M, Me, B 3R Fa Fafifd A H SR Bl SR U RS TSI & - C, Fa F A F@ H B Fa, FH g0 I
VA RIIMIR, ARBFITHARIF, o f5 A F 918 e B, 5t 1 SR R 3
Frafied o) § § & 5 voR I e IuH § SR 3T I S &1 98 S & o 39 I § it et g €2
F
A
F
M
B
M
Fa
C
Fa
C
D
C

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Study the following information carefully to answer the question given below-
2727053
Six students A, B, C, D, E and F are the top six rankers of the class. No two persons got the same rank. The student who got the highest

marks is given rank 1 and the student who got the least marks is given rank 6. B got less marks than both C and F. A got more marks
than E but less than D. B got the second least rank and F got the second highest rank, C got less marks than A.

Who got third lowest marks?
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fufafad THER &1 eaFyde gy o) A el T Uy #1 IR Sl

BEBHA, B, C, D, E 3R F F& & i B8 I& ardl &1 [l < afcadl & THH I U e g3l Ta i 3 UIe R ardl O &I ¥ 1 & et
T IR U Y 3 U A a1 S HI b 6 & SH g1 B B C 3R F F I 1 3 A 81 A 31 E F 31fiss afd D ¥ &1 oics fid §1 B &1 gt
T B 3P e iR F &) gt e S=rad 3o el ¢ & A T &9 i |

TR wo HH i fhwa! firerd 82

c
A

A
B

A
C

E

B
D

B

Correct Ans : A

Subject : General Reasoning

Q.No: 55 1In the following question below are given, some statement followed by some conclusion taking the given statement to be true even if they
2727104 seem to be at variance from commonly known facts, read all conclusion and then decide which of the following conclusion logically follow
the given statement.

Statement:

Some Dogs are cats.

All cats are Pets.

No pet is wild.

Conclusion:

(I) Some pets are wild is a possibility.

(II) Some Dogs are wild.

A2 feu U Uy & $7 FUF 3R 3P 918 I HUA W UG T Fwy 3T U 71 gl 38 W Jd a2 § Ry 8 Iadt 81 3t freed g fR
fuffed &3 for fow o B I s, AT U HUAl F SR W iR 7

BY:
o P facel 8l

Tt fareett Urerq 21

IS e STet Y 1

forem:

(1) T U & ST B9 B I B
(I1) T8 T SATeH B

Only conclusion I follow

Fad frepd 1 SrgaRoT AT @

B Only conclusion II follow
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Fad frepy 1T 3Rl FaT §
Both conclusion follow

C
1Y s SR Bea §
None conclusion follow

D

P1g frepy Srgavur 7Y FeaT &

Correct Ans : D

Subject : General Reasoning

Q.No: 56 Twonumbers A and B are such that the sum of 5% of A and 4% of B is two — third of the sum of 6%
2422264 f A and 8% of B. Find the ratio of A - B.

B A ARBTU USSP AD 5% ARB D 4% T AR - A H 6% HRB P 8% & AT
HE-TBE &1 A - B &1 UG AT BT

2:3
A

2:3

1:1
B

1:1

3:4
C

3:4

4: 3
D

4:3

Correct Ans : D

Subject : General Maths

Q.No: 57 Find the rate of discount being given on a shirt whose selling price is Rs. 546 after deducting a discount of Rs.104 on its marked price.
2422313

T I W & TH arell Fe B R 19 BITE S0P 3ifhd Ted TR 104 39T B ge Pled & 14 [aHd 7ol 546 I B

15%
A

15%

16%
B

16%

20%
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20%
18%

18%
Correct Ans : B

Subject : General Maths

Q.No: 58 1In a class there are 30 boys and 24 girls. The ratio of boys to girls is:
2429460

TP B4 T 30 TSP 3R 24 TSipal §1 ST AR ASipal BT U &:

7:6
A

7:6

6:5
B

6:

5:4
C

5:4

3:2
D

3:2

Correct Ans : C

Subject : General Maths

Q.No: 59 The ratio of ages of Rita and her mother is 21 : 28. At the time of Rita's birth her mothers age was 28 year. Find the present ages (in
2429493 years) of Rita and her mother.

a1 SR ITB W P Y PT U 21:28 §1 AT S o F T ITDT AT b1 31 28 ¢ At | T 3R I A BT adAH 3 (Inf H) 1 i

55,86
A

55,86

75, 100
B

75, 100

85,120
C

85,120

84, 112
D

84,112

Correct Ans : D

Subject : General Maths
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Q.No: 60 Nitya deposited Rs. 1200 in a savings bank. The bank offered 12% simple interest per annum. How much interest does Nitya earn in 5
2432815 yeqrs?

A 3 T s9d % W 1200 FU S U 96 3 ufd 9 12% FURY SO Bt OYHY BT 5 Fied F FAm @) o s forefar 82

680
A

680

960
B

960

720
C

720

840
D

840

Correct Ans : C

Subject : General Maths

Q.No: 61 The simple interest accrued on an amount of Rs 10000 at the end of 5 years is Rs 5000. What is the rate of interest % p.a?
2432884

598 ¥ 3id H 10000 T BT AR W 3R JreRU &I 5000 FUY 1 &S B aR% Ufa o &1 22

14%
A

14%

10%
B

10%

29%
C

29%

53%
D

53%

Correct Ans : B

Subject : General Maths

Q.No: 62 . x y " . .
2433004 What will come in place of question mark (?) in the following question?

g of 75% of 840=?
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et oor § wor =2 (2) 3 £ 97 F47 AT

840WTS%W§=?

884
A

884

882
B

882

886
C

886

892
D

892

Correct Ans : B

Subject : General Maths

Q.No: 63 If I bought a watch of Rs. 5000 and paid 6% tax and 12% tax on Rs. 15000 mobile phone. So I paid approximately how much tax on both
2435201 the jtems?

& B 5000 U B TS WA 3R 6% T TR GHMAT AT 15000 FUT F AGST B R 12% o IHMAT, O B ST aegsit IR AT fhar e
THMET?

2
pu v}
183;&

2
=
‘183!&

1
155%

1
155%

1
g
105%

Correct Ans : C

Subject : General Maths
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Q.No: 64 Income ratio of A and B is 3 : 2 and their expenditure ratio is 1 : 2. If A saves Rs. 400 & B saves Rs. 100, then find income of B.
2435435

A 3R B P 31T HT 3UIT 3 : 2 B 3R ITehT o7 MU 1 : 2 71 A A 400 TUY 3R B 100 ST AT & &l B B 41T J1d B3|

Rs 300
A

300 3

Rs 385
B

385 0

Rs 350
C

350 U@

Rs 475
D

475 ¥0Q

Correct Ans : C

Subject : General Maths

Q.No: 65 If the price of a BMW car increases by 10%. and if it's new price becomes 755,370 then what will be its old price?
2437810

i T BMW R PI BIAT 10% §¢ STdt &1 3R 3R TSB! T3 BIAT 755,370 B STl § < SHH! QR BIAT 1 SHir?

580,000
A

580,000

600,000
B

600,000

686,700
C

686,700

650,000
D

650,000

Correct Ans : C

Subject : General Maths

Q.No: 66 A man borrowed some money at the simple interest rate of 12 % p.a. He paid Rs. 5400 interest only for the period of 3 years. What was
2439129 the horrowed amount?

TH S A 12% Ufaay &} WYRU &6 &R R 9 AR IYR | 394 3 ¢ Bt 3af) & U Faad 5400 ITA & S &1 YTaH fbar
IR ot TS A I B2

A Rs. 12000
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12000 FTd
Rs. 18000

18000 WA
Rs. 15000

15000 T
Rs. 16000

16000 U
Correct Ans : C

Subject : General Maths

Q.No: 67 A sum of Rs 12,500 amounts to Rs 15,500 in 4 years at the rate of simple interest. What is the rate of interest?
2439154

12,500 IUY P T MR YR SIS P G F 4 981 H 15,500 T &) Sell &1 SO & T 87

8%
A

8%

5%
B

5%

9%
C

9%

6%
D

6%

Correct Ans : D

Subject : General Maths

Q.No: 68 A merchant buying goods abroad at a discount of 33.33% on the catalogue price has to pay import duty of 20% on the net cost of goods,
2730413 (¢jize a profit of 25% on his outlay, what must he charge for an article priced Rs.228 in the catalogue?

T I W 33.33% P g W 332 ¥ U1a e a1et U URT BT AT B Y ARG W 20% BT AT Yo A1 USdl 8, O Gal F 228 I Jed arat
& a% & oY 34 1 Yoo o1 1T dlfch a8 30 URST WR 25% BT Ay U He?

228
A

228

322
B

322

C 317
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317

Cannot be determined

Fruffva <Y fran s g

Correct Ans : A

Subject : General Maths

Q.No: 69 The principal amount and the total amount deposited at simple interest for 4 years is in the ratio of 2 : 3. What will be the compound
2781078 jnterest if Rs. 20000 is deposited for 2 years at the rate which is 2.5% less than the rate of simple interest?

e IR SR 4 Tt F AU YR IS R 7 B TS FA AR 2 : 3 F U B 31 A Thdia S J1d PO e 20000 F 2 I F MY I R W T
fopar ST & S WYRO S B R 2.5% HH 82

Rs. 3900
A

Rs. 3900

Rs. 4200
B

Rs. 4200

Rs. 4500
C

Rs. 4500

Rs. 5210
D

Rs. 5210

Correct Ans : B

Subject : General Maths

Q.No: 70 A cylindrical vessel of radius 3.5 m is full of water. If 15400 litres of water is taken out from it, then the drop in the water level in the
2781235 yegsel will be?

= 3.5 Hier BT U ITER Fa7 U F W17 g3 71 afe T F 15400 Hex ur e St 8, @ ITER §6d & o &R J ot fRmae gefie

72 cm

72 I

40 cm

40 9t

35cm

35 9t
60 cm
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60 I

Correct Ans : B

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?
2426641
18-8x4+3+9=-27

fou T Tt &1 wEt 9 & for foee < Semsll &1 Sy # Sean o aifgu?

18-8x4+3+9=-27

18 and 3
A

18 3R 3

8 and 4
B

8 3R 4

3and9
C

339

9 and 4
D

93k 4

Correct Ans : A

Subject : Mental Ability

Q.No: 72 How many dots are there on the face opposite the face with two dots?
2429646
& g3t are Se & THd B W fhde &g 87
1
A
1
5
B
5
4
C
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6
Correct Ans : D

Subject : Mental Ability

Q.No: 73 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430227 trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from
the given statements. Indicate your answer.

Statements: The accident in which the person was run down by a bike yesterday had again focused attention on the most unsatisfactory
state of roads.

Conclusions:
I. The accident that occurred was very dangerous.

I1. Several accidents have taken place because of the unsatisfactory state of roads.

fFafiied vy 8 3 By iR I9F a1 3l e (1) 3R (1) 2T 7T €1 31U Y= & I HFAT €, Ya & 3 IMa: T1d aat ¥ 3 uedid 81d 81 st
g T B ¢ o fou U Fnast & 9 o1 @, afe 1S 9, AT U FuA o1 UreH HRal g1 30 IR HT 9 -

HY: Ud goel, o 16 fad &) d a5d I Fad a1 T o1, 3 R I gt & gad sridivere Ry iR e Sisd fawar am
e

1. S e g8 9% 9gd TR At

1. oI B T RIFY F FROT B IR gl & g &

Only conclusion I follows

A
Fad Frepy 1 SFHRT BT &
Only conclusion II follows
B
Fad frepd 1T SFERT Fear @
Either conclusion I or II follows
C
a7 dt s 1 97 1T SRR ST @
Both conclusion I and II follow
D

frspd 1 R 11 Y SrgeRYr Fvd &
Correct Ans : D

Subject : Mental Ability

Q.No: 74 In the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be
2430236 trye even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if any, follow from
the given statements. Indicate your answer.

Statements: The best source of India's beautiful past is the growing popularity of Ayurvedic medicines in the West and South.

Conclusions:
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I. Ayurvedic medicines are not popular in Asia.

II. Allopathic medicines are more popular in the world.

Fafafad o & 3§ S iR I 91 3l ey (1) iR (11) Ru 7T €1 3! S 1 I AT 8, HA &) @ Irge: 11d at ¥ i edid 819 81 et
g T BT © T fou T st & § 319 1, Al H1 |, 3T T S 61 ure HRa g1 U SR HT T B

FYF: YR B TR 3ielid BT Jad 33T Ad Ui iR o 7 smgdfes qarsh @t ggdt Ao 31
e

1. 3Mgdfee any uRmn & diefiE 78 ¢

11. TR gary gfar & eifie deita g

Only conclusion I follows

A
Fa Frspy 1 AR T 2
Only conclusion II follows
B
Fad frepy 1T 3Rl FIaT &
Either conclusion I or II follows
C
a1 &t frepd 1 a7 11 3R He B
Neither conclusion I nor II follows
D

7 dt e 1 3R T & 11 rgeR PRt @
Correct Ans : D

Subject : Mental Ability

.No: 75 . . . . . - . .
(22436531 What will be the value of the following equation if “+° means ‘addition’, *+* means ‘subtraction’, -
means ‘multiplication” and ‘x’ means “division™?

72x9-3=8+2=7

fFrafaf@d wieor &1 A= @ gen afg = &1 7T S, & T Eer, - & AT Ao
3T x @ H w2
72%x9-3+8+2="

30
A

30

35
B

35

25
C

25
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40
Correct Ans : A
Subject : Mental Ability

Q.No: 76 If 26 March falls on Tuesday, on what day will the 8 of the month fall?
2437409

I 26 TTE WIAAR &I TS 8, A 7N 3T 8 TR fry o waie

Sunday
A

faar

Friday
B

JhAR

Tuesday
C

HIAR

Wednesday
D

qYarR

Correct Ans : B

Subject : Mental Ability

Q.No: 77 If the day after tomorrow is Sunday, then what day is today?

2437430
Ife TR AR B A o S A e 72
Friday
A
hAR
Thursday
B
AR
Monday
C
HHaR
Tuesday
D
HITEAR

Correct Ans : A

Subject : Mental Ability

Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller cubes
2438453 paye exactly three painted faces?
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% U Bl Ue a1 o1 8 SR 64 BIe IR THE UA § Hiet oIl B, O wel #t gAan Wug W €1 o B uHl & S ofiF ) g was 82

6
A

6

8
B

8

10
C

10

12
D

12

Correct Ans : B

Subject : Mental Ability

Q.No: 79 Complete the following series
2438773

75075, 25025, 5005, 715, ?, 5

e Jae o 07 B8
75075, 25025, 5005, 715, 2, 5
225

225
365

365
156

156
65

65
Correct Ans : D

Subject : Mental Ability

Q.No: 80 A boy said to a girl ‘your mother’s husband'’s sister is my aunt’. How the girl is related to boy?
2439340

T TSF 3 T ASH! U Hel ‘TR T & Ul B 957 B o/ AR ¥ | ISP ASd I P Tefd 7

Sister
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Aunt

Wife

LCl

Daughter

&t
Correct Ans : A

Subject : Mental Ability

Q.No: 81 If four cats can kill four rats in 4 minutes, how many minutes will take Eight cats to kill Eight rats?
2442245

g, IR fafmar 4 e & IR 98 & AR JHdt € dF 3i1e iRl sime =gt &1 AR & fban wwg e

8
A

8

4
B

4

2
C

2

16
D

16

Correct Ans : B
Subject : Mental Ability

Q.No: 82 From the given alternative words, select the word which cannot be formed using the letters of the given word.
2442754
CANDIDATE

U T i wsal § ¥ 97 Wt I N T U Weg & 1eRT BT TERT RS G ST S el

CANDIDATE
Date

A
Date
Candid

B
Candid

C Dean
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Dean

Team

Team
Correct Ans : D

Subject : Mental Ability

Q.No: 83 Directions: In the question below is given a statement followed by two conclusions numbered I and II. You have to assume everything in
2442898 the statement to be true, then consider the two conclusions together and decide which of them logically follow beyond a reasonable doubt
from the information given in the statement.

Statement:

I: A huge crowd gathered at the JP stadium to watch the singer perform live.
II: JP stadium has a capacity of 1 lakh people.

Conclusion:

I: Not more than 1 lakh people attended the concert.

II: The singer is very popular.

fordan: S T & &) 7y 3T 35F g [ AT 1§ 396 o ey 23 79 €1 3mueeT T3 T et @ 5o AT 8, He 6 F A
Tt @ 39T wdid 21§ o fifed e TR 918 faseut & & slaan/slag ey Ag g2al & Se3ers ol 94 ST & allda
T F HFTETOT HIA o/ F B

FU:

I: St ®2fETa & a1k o Aga ede due & U g e 7 ofig gl g%

I1: =idr TEfEwa & &7FaT 19T aieaat o aae &7 &

e

I: 1 ¥IRg SAfeFca ¥ e oeT e 7 39U w81 gU|

I: 31T agel iohiod Bl

Only conclusion I follows

A
Pad frepd I SFER0 HaT @
Only conclusion II follows
B
Fa Frepd 1T SE0 HaT §
Both conclusion I and II follow
C
e 1 3R 11 Y SrgeRYT Fva §
None of the conclusions follow
D

P1$ Wt Frad srgaRor 78 Far 21

Correct Ans : B

Subject : Mental Ability

Q.No: 84 1In the following question, select the related number from given alternatives.
2727627

56:41::94:7
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FafaRed ue # fou U fieedl & ¥ defta dem &1 ghu

56:41::94:7

60
A

60

a9
B

49

75
o

75

40
D

a0

Correct Ans : B
Subject : Mental Ability

Q.No: 85 Given below are capital letters in the first line and symbols in the second line. Symbols and letters are code for each other. Choose the
2782043 (orrect code for given letters.

A|JC|IE|G|IH|I|OINIP|R|T|S|B]D M
+l-l=x[=[(Ohlthhlslulalt[>]<
PARROT

F2 <t 71 IRt § vl Uiga § oi¥ioh quiATal & 9 9eR SR gER) Ufe # welie iU U B v o 31ER Th g b FIS &
faw 7T 2eri & forT et Pbrs B = B2

A|C|IE|G|H|I|O|N|P|R|T|S|B|D|M
+ | - + | X|=1(])

—

:
;
W
A

PARROT

]+$$)N

]+$$)0
]+ $$[ !

]+ $$ !

]+ &&[!
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]+ && [ !

[1+&!1]

[1+&!1]

Correct Ans : A

Subject : Mental Ability

Q.No: 86 Three lightships flash simultaneously at 8:00 a.m. The first lightship flashes every 24 seconds, the second lightship flashes after every 60
2427197 seconds, and the third lightship every 132 seconds. At what time will the three lightships next flash together?

I TTEefu gag 8:00 T UH WY IHE! &1 UgH! TECRY &R 24 Ydhs H TGB! 8, IR ARV &R 60 Jbs H IAGA ¢, 3R ARt agelv & 132
Acbs T TG B TS T AR 5w T7g Ub Ty Fwb?

8 am 18 minutes

A

8 am 18 fiFew

8 am 22 minutes
B

8 am 22 fiFey

8 am 10 minutes
C

8 am 10 fﬁm

8 am 25 minutes
D

8 am 25 fiFew

Correct Ans : B

Subject : General Aptitude

Q.No: 87 . 1 2 4
2427259 Find the HCF of 4 5 5 = and 79 .

.
4&, 5%3#‘!?7% &1 HCF 9id e

37
A

37
B 1
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61

Correct Ans : B

Subject : General Aptitude

Q.No: 88
2427279

A man goes a distance of 250 km in 5 hours by bike. Calculate its speed in km/hr.

TH e Heursfod ¥ 5 8¢ & 250 forrdt @t g8 7 wvan g1 ffly/ser & s9at nfa &1 7 31a S
40 km/hr

40 &t /ger
50 km/hr

50 it/ ger
90 km/hr

90 feHi/ger
45 km/hr

45 et/ der

Correct Ans : B

Subject : General Aptitude

Q.No: 89
2427338

A car covers a distance of 144 km in 2 hours. Calculate the speed of car in m/s.

TP R 2 6 & 144 5t ) g8 Tu Bt 81 H/A § R 3T AT I 701 PR
20 m/s

20 1/
35 m/s

35 W/d
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25 m/s
C

25 #i/4

5m/s
D

5 #/d

Correct Ans : A

Subject : General Aptitude

Q.No: 90 If two trains each having length of 225 m are running in opposite direction to each other in the same parallel lines having speed of 80
2427373 km/hr and 64 km/hr respectively. Calculate the time in which they cross each other completely.

Tfg 225 MR T darE ara & Yaisar HH 80 fFHl/Her 3R 64 fartfy/der @Y T arelt TAMR A # Th-gIR & Juda ez # 9« @ §1
79 T 3 TH-TW B T RE I UR A €, 395 IR H AT B

12.33s
A
12.33 9%
25.45 s
B
25.45 95
12.5s
C
12.5 A5
8.88 s
D
8.88 AHS

Correct Ans : C

Subject : General Aptitude

Q.No: 91 If the angles of a pentagon are inthe ratio 1 : 3: 6 : 7 : 10, then the smallest angle is:

2431291

TE GaYS & B HAR: 1:3:6: 7 : 10 H 30 & 8, A T BheT 10T

30°
A

30°

324
B

320

278
C

28

20°
D

209°

Correct Ans : D

Subject : General Aptitude
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Q.No: 92 What should come in place of the question mark (?) in the following question?
2432020

(4 % 4P+ (512 + 8) % (32 x 8)* = (2x2)™*

fFofaiad uy & vears g (?) & RIM W a1 37 A1fu?

(4 x 4P+ (512 + 8)* x (32 x 8)*=(2x2)™*

8
A

8

12
B

12

6
C

6

14
D

14

Correct Ans : C

Subject : General Aptitude

Q.No: 93 A and B Can finish a work together in 30 days. B and C can finish the same work together in 24 days and A and C can finish the work
2436080 together in 40 days. If all three Work together. how long Will it take them to complete the Work?

A 3R B U &M &I 30 1 B Q7 #R Thd g1 B 3R C IH & &Y 24 3T F -1 R Tohd § 3R A 3R C ez I &M &1 40 T F 1 R T 31
I 1 T WY HTH B 8, A S8 DM T B § a1 goa arm?

15 days
A

15 T

10 days
B

10 f&

20 days
C

20 fam

5 days
D

5 faA

Correct Ans : C

Subject : General Aptitude
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Q.No: 94 A can do a work in 20 days, while B can do the same work in 25 days. They started the work jointly. Few days later C also joined them
2436088 and thus all of them completed the whole work in 10 days. All of them were paid total Rs.700. What is the share of C?

A Tt Bl &Y 20 T B % T 3, Tafes B 52 &1 &Y 25 o § o Govdl 81 I UG TU A S HY R 3w Al
P9 &l & 1g ¢ ot I Ty e 8 T 3R 39 e F G Tuuf & @t 10 o H @R BRa Bl I Tt B A Rs. 700 BT YA T Al
C o1 feeR foraet 2

Rs.75

Rs.75

Rs.55

Rs.55
Rs.70

Rs.70
Rs.65

Rs.65
Correct Ans : C

Subject : General Aptitude

Q.No: 95 Ganesh, Ram and Sohan together can complete a work in 16 days. If Ganesh and Ram together can complete the same work in 24 days,
2436110 then the number of days Sohan alone takes, to finish the work is-

oY, I SR g Aae et H0 3 16 T § T wR Tohd 31 3l 70 SR I aeR I F Bl 24 A T O IR Ghd 7 o Wie 3ibd 39 BH
B R HA & e T @i

40 days

40 &

48 days

48 fa=
32 days

32

30 days

30 f&=

Correct Ans : B

Subject : General Aptitude

Q.No: 96  If the 8-digit number 179x091y is divisible by 88, the value of (5x - 8y) is:
2436200

Tfe 8-3fPIg TAT 179x091y,88 ¥ fAUTT B, & (5x - 8y) BT AFNIT Y|
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5

Correct Ans : A

Subject : General Aptitude

Q.No: 97
2444111

Two cards are drawn at random one after another without replacement from a pack of 52 playing cards. Find the probability that they will
consist of a red king and a red queen.

52 T & Uil & T Ube J 9ed o1 T & 918 Us TEfdd 10 J &1 Ul (Hebrel S &1 WifiehdT Td SIRT 6 S0 T ot ol 3R Teb ardd It 8|

4

443

663

Correct Ans : D

Subject : General Aptitude

Q.No: 98
2444380

How many 3-digit even numbers can be formed with no digit repeated by using the digits 0, 1, 2, 3, 4 and 5?
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0,1, 2,3, 4 3R 5 & grI 31 fdt siep o grRIgha B fpait 1 sipt ) I T oS o Tl &2

56
A

56

54
B

54

52
c

52

50
D

50

Correct Ans : C

Subject : General Aptitude

Q.No: 99 What should come in place of question Mark ‘?’ in the following number series?
2444746

12, 21, 39, 75, 147,

Frefafea = Saar & u=A g 2/ & RIF W F&T ST

12, 21, 39, 75, 147,

273
A

273

291
B

291

283
C

283

263
D

263

Correct Ans : B

Subject : General Aptitude

Q.No: 100 The perimeter of a square, the perimeter of an equilateral triangle and the circumference of a circle are equal to 132 cm. Which shape
2730255 gyered maximum area?

TF I BT IR, THawaTg Y &1 uRAT ok T 39 3 IR 132 I & Rk 81 {59 anepfa 3 siftieaw &7 &1 HaR o gan 82

Square

if
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Circle
B

qd

Triangle
C

Bryer

All of the given option
D

feu e 9t fawew

Correct Ans : B

Subject : General Aptitude
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